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Multiple Choice.


1. Let R be the region in the first quadrant bounded by the x-axis, the graph of and the line .  
[image: ]    Which of the following integrals gives the area of R?

	(A) 		(B)  		

(C)  		(D)  

(E)  












2.  Which of the following gives the area of the region between the graphs of  and  from     
[image: ]       to .

	(A)  2		(B)  		(C)   	

(D)  13		(E)   


















												               OVER 
Free Response – NO CALCULATOR!!
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4.  SKIP PART (B)
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Let R be the region in the first quadrant enclosed by the graphs of f(x) = 8x*
and g(x) = sin(7x), as shown in the figure above.
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(b) Find the area of R.
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Let R be the region in the first quadrant enclosed by the graphs
of g(x) =x and h(x) = % as shown in the figure above.

(a) Find the area of region R.

(b) Wite, but do not evaluate, an expression involving one or
‘more integrals that gives the volume of the solid generated
when R is revolved about the horizontal line y = 4.

(¢) Find the maximum vertical distance between the graph
of g and the graph of  between x = 0 and x = 16.
Justify your answer.
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(c) Consider the function D(x) = VX 7§ 1:sets D'(x) =0
D'(x):%{‘/%;: }7% 34 1:identifies x = 2 as a candidate
N 20 1 - answer and justification
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